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Friday, 5** October, 2012

1. Find the equation of the tangent line to the curve C represented by the vector-valued

4] function r(t) = (t*,sin(t), 2t + 1) at the point (1,0, 3).
[5] 2. Find the area of the cardioid r = 1 + cos¥.
3L 3
(3] 3. Evaluate lim , or explain why it does not exist.

(zy)-11) z—y

Page 2 of 4

Print to PDF without this message by purchasing novaPDF (http://www.novapdf.com/)

Total Points: 36


http://www.novapdf.com/
http://www.novapdf.com/

Test # 1 MATH 53 Friday, 5*" October, 2012

4. Consider the two lines in R® given by

ri(t) = (1,6,1) + (0,4, —2)
ro(s) = (0,3,0) + s(1,—1,3)

2] (a) Verify that the two lines intersect at the point (1,2, 3).

[3] (b) Find the cosine of the angle between the two lines.

[4] (c) Find the equation of the plane that contains the two lines.
(3] (d) Find the distance between the point P(3,4, —2) and the plane from part (c).

Total Points: 36
Print to PDF without this message by purchasing novaPDF (http://www.novapdf.com/)



http://www.novapdf.com/
http://www.novapdf.com/

Test # 1 MATH 53 Friday, 5" October, 2012

5. (a) Find the linear approximation of the function f(z,y, z) = /22 + 2y2 + 22 at the point
(5] (4,5,6). (Note: 42 + 2(5%) + 62 = 100 = 102.)

(b) Use your result from part (a) to approximate the value of /(4.1)2 + 2(4.95)2 + (6.03)2

6. Use the chain rule to compute of and o if f(z,y,2) = ze¥"%, where z = 2uv, y = u2 —1?

ou ov

)

(5] and 2z = u.
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